@ ALAOWAA

Gem

Science
5l @ el

»9iSi ymuiy) @dubyiwbl 23l0i1 3yido

2023 - 2022 owhaiplen

CamScanner = Ligo d>gewaall


https://digital-camscanner.onelink.me/P3GL/g26ffx3k

Model (1) @

o (A) Choose the correct answer:

1 e |S @ MeEAsSUring tool of Weight_
a) Sensitive balance b) Spring scale
¢) Thermometer d) Two-pan balance

2 If the weight of an object on the Earth’s surface is 60 Newton, then its weight on the moon’s

U7 () Lo o
a) 60 Newton b) 10 Newton
c) 6 Newton d) 100 Newton

3 All the following substances are good conductors of heat except -,
a) iron and copper b) copper and aluminum
c) glass and wood d) iron and aluminum
4 Heat transfers from -
a) a hot object to a cold one b) a cold object to a hot one
¢) a heat conductor to a heat insulator d) a heat insulator to a heat conductor
(B) Give a reason for the following:

Handles of cooking utensils are made of wood or plastic.

9 (A) Complete the following sentences:

T e TuTs § L — conductor of heat, while ironisa .- conductor of heat.

2 ... |S the degree of hotness or coldness of a body.

3 The measurement unit of Mass is , whereas the measurement unit of
weight B i

4 When the distance between an object and the Earth's center increases, its weight -
(B) Mention the uses of the following:

Heat energy.
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o (A) Choose the correct answer:

1 If the weight of a person in a balloon on a certain height from the Earth equals 60 N,

then what is the weight of the person on the Earth’s surface? ... N,
a) 55 b) 60
C) 62 d) 58

2 Scientists classify the materials into -
a) heat insulators only b) heat conductors only

c) (a) and (b) d) heat conductors and metals

3 The best metal in conducting heat is -
a) aluminum b) iron

C) copper d) rubber
4 Newton is equal to the weight of a body, its mass is -
a) 10 gm b) 100 gm
c) 1000 gm d) 10000 gm
(B) What is meant by?

Wood is a heat conductor.

e (A) Put (V') or (X) and correct the false ones:

1 The mass of an object depends on the mass of the planet. ( )
2 Cooking pots and kettles are made up of plastic. ( )
3 The mass of a body changes by changing the place. ( )
4 Plastic and paper are good conductors of heat. ( )

(B) When do we say ...?

The objects on the Earth have no weight.
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Model (3) @

o (A) Complete the following sentences:

4 Cﬂpper conducts heat - than iron

2 |f the mass of an object on the moon's surface equals 10 kg, then its mass on the

Earth's surface equals - kg.
3 The sensitive two-arm scale is used in measuring small masses as - and-
4 Heatis a fﬂrm nf and can bE‘ measured by USing

(B) What happens if --?

The mass of an object increases.

9 (A) Correct the underlined words:

1 Heat conductors are the materials that don't allow heat to flow through. ()
2 Weight is the amount of matter in an object. [l )

3 Thermometer is an indicator that helps us to express the state of a body from the point of

hotness and coldness. R )

4 Sensitive two-arm balance is used to measure the mass of fruits. [esimsiimisiial

(B) What would happen in the following case?

Two bodies have the same temperature touch each other.
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/N

Ch th t : |
o oose the correct answer \,_1 /

a If the sum of two numbers equals 105 and the ratio between themis 2 : 3,

then the largest numberis ...

e 84 e 63 42 o021

B fa:b=2:3D:c=3:5.thena:C=....% e

e8:15 e2:5 e4:9 e3:10
c 0.001dm’=.....cm°
e 0.01 e 0.1 o] 10
d Inthe opposite figure: A D
ABCD is a parallelogram, then x = ... °, ) %&\ @?c
¢ 100 e 80 e 50 e 40
9 Complete each of the following: / K\}
a 3000gm:5kg= .. . \4/
b The volume of a cuboid is 300 cm? and its base area is 25 cm?, then its height= ... cm

¢ If the ratio between the number of girls and the number of boys in a school is 3:7 and

the difference between their numbers is 80 pupils, then the number of girlsis .........

AR
A WA

oA -

9 Solve the problem: J <2‘>

A box in the shape of a cuboid, of internal dimensions 21 cm, 18 cm and 6 cm, is wanted

]

B
d Draw the next pattern| \a/
L\,

- - et

to be filled with pieces of chocolate, each of them is a cuboid of dimensions 3 cm, 3 cm

and 1 cm. Find the number of pieces.
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A

9 Choose the correct answer: |

a 8hours:3 % o 55\ R AU

e8:3 el1:10 e3:8 e10:1
b The number of pupils in a primary school is 360 pupils if the ratio between the number

of boys and the number of girls is 1: 2, then the number of boys= ...

e 240 e 160 o120 e 100

¢ A cuboid with dimensions 4 cm, 3 cm and 5 cm, then its volume = ....cm’

10 e25 e 60 e 50
d The diagonals are perpendicularinthe ...
e rectangle e square e trapezium e parallelogram
9 Complete each of the following: /ﬁ\l
a 25 seconds: % minute = ... \i/g

b The ratio between the measures of the angles in a triangle is 2 : 3 : 4, then

the measure of the greatest angleis ...
¢ The volume of a cuboid = the area of its ...................

d [f the capacity of a cuboid-shaped tank is 45 000 litres and its height is 5 m, then the

areaofitsbase= ... m?

——

[N
\2/

9 Solve the problem:

A square whose side length is 4 cm and a rectangle whose dimensions are

6 cm and 3 cm, find:

a The ratio between the perimeter of the square

3cm
4 cm

and the perimeter of the rectangle.

---------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

.................................................................................................................................................................................................................................
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N
o Choose the correct answer: rK /I
4
a The ratio between 3 %and 96= . ... -
&zl el:6 e5:3 ol1:3

b If the ratio between two numbers is 7 : 2 and their sum is 27, then the difference

between the two numbersis ... .

o2/ el15 o] o6

¢ The volume of a cuboid is 160 cm3 and its base is square with side length 4 cm, then

its height=........cm.

04?2 8.5 10 045

d The parallelogram whose sides are equal in length is called ...

e square e rectangle e rhombus e trapezium
9 Complete each of the following: f,ml
a 12kirats:1.25feddans= ............c.ccceecno.... (in simplest form ) Ik\ﬂ/ I
b The two diagonals are equal in lengthineachof ... and ...
¢ Ifthe volume of a cuboid is 64 cm? and the area of its base is 16 cm? then its height=__...cm

d If the ratio between the measures of the angles of a triangle is 2:3: 4, then

the measure of each angle of the triangleis ...°, ... .°and ... ..°
9 Solve the problem: { >
% 2

The opposite figure shows a parallelogram in which: N
m (£ B)=100°, m (£DAC)=35°AB=5cmand BC=7 cm.
(Without using geometrical instruments)

a m(£D) =.... P

b m(LACD)= ... 100"/

L > 'B

¢ The perimeter of the parallelogram ABCD= ...
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Model Exam 1

1. Listen and complete:
A: Whereareyou (1) ............. T
B : I'm going to the restaurant.
A : Really! What will you have?

B: 'minthemoodfor(2) ... .

A : What about today’s special?
B : I think it's spaghetti and meatballs.

2. Choose the correct answer froma, b, cord:

© Howabout ... . a film?

a) watch b) watches
@ Whatabout ... . water?

a) any b) some

€ Hewantsa ... ofjuice.

a) cup b) bowl
O lwenttothe ... shop to get a haircut.
a) barber’s b) butcher’s

3. Write a paragraph of SEVEN sentences:

¢) watching

c) a lot

c) glass

C) grocer’s

“A visit to the theatre”

d) watched

d) many

d) piece

d) baker’s

---------------------------------------------------------------------------------------------------------------------------------------------

lllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllll

lllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllll

4. Punctuate the following sentences:

© Ali s family lives in giza near the zoo.
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Model Exam 2
1

. Listen and circle:
€@ 2a) We're open from 9.00 A.M. to 6.00 P.M,
b) We're open from 10.00 A.M. to 8.00 PM.
@ 2a) What's today’s special?
b) What will you have?
€ 2) The car is behind the house.
b) The car is next to the house.
@ a) Where is the post office?
b) Where is the bank?

2. Circle the odd word and replace it with a correct one:

© cinema hotel ownher bank

® good delicious salad beautiful

€ restaurant  supermarket pasta barber’s shop
O include cost ready close

© meatballs favourite spaghetti potatoes

3. Rearrange the following words to make correct sentences:

© that - Does - include — rooms — Mummy - the?

4. Punctuate the following sentences:

© When did you arrive in cairo/

iiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiii

lllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllll

-----------------------------------------------------------------------------------------------------------------

-----------------------------------------------------------------------------------------------------------------

..........................

||||||||||||||||||||||||||

iiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiii

llllllllllllllllllllllllllllllllll

----------------------------------

----------------------------------
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Model Exam 3

1. Choose the correct answer froma, b, cor d:

© My uncleisagood ... . He cooks well.

a) doctor b) teacher c) receptionist d) chef
@ How ... bottles of juice do you usually drink?

a) much b) old c) often d) many

2. Read the passage and answer the questions:

at night and sometimes stays outside to clean the restaurant and open it early.

A) Choose the correct answer froma, b, cord:
€© . customers visit the restaurant.

a) Few b) A lot of c) Some d) No
@ My father cooks ... .
a) rice and fish b) fish and chicken c) bread d) flour

B) Answer the following questions:
© What does the father wear at the restaurant?

3. Write an email of SEVEN sentences:
Write an email to your friend Ahmed to tell him about your town. Your name is

Osama. Your email address is osama@student.com. Your friend’s email address
is ahmed@student.com.

My father is a cook. He works at a restaurant near our house. He wears a white uniform. He
is good and clever. A lot of customers visit the restaurant many times because they like fish
and chicken. He also gives them juice and pies when they order the dessert. He comes back

[

o T T I T o I I i e e T T e
From .

®  mom A E N B @R R @ E R R EE @ E EEE B W N B RS R ESE S SR BN R E B R EEEE SRR B EE B S ES R RS E SRR R R BB RS RS RE B EE B RS BE R EE S E S ®E R R R B EE®E R EE SR SRR REEE S

=
ubject :

B 54 B e R R E R R R R EE RS R B R R R R RS EE RS E S E R R E @ E A B E SRR R RS E R EE R EE RS E W E W R R R R EE W EE R R E S EEd B AR d B R R
.......................................................................................................................................
.......................................................................................................................................
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4. Rearrange the following words to make correct sentences:

€@ How - salad - about - a?
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